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Vertical Division with aHelper Grid Name:
Solve each problem. Answers
1) 2) 3)
6[5/94 6[9/7/3 7[7743 -
2.
3.
4.
5.
6.
2) 5) 6) !
3|135 3|273 2|144 8.
9.
7) 8) 9)
9|732 3|112 2|334
1-9 |89]|78]67[56]44[33[22[11] 0 |
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 9/9 2 1l6|2r1 3 1/06/r1 99
6|59 4 6|973 71743
o4 6 70 162r1
54 37 43
54 36 42 10611
0 13 1
12 45
1
91
72
4) 45 5) 91 6) 72 8lr3
3({135 31273 21114 4 37rl
12 27 14
15 0 04 167
EE) 4
0 0
7) 8/1r3 8) 37r1 9 167
91732 31112 2|334
2 9 2]
12 212 13
19 21 12
3 1 14
14
0
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